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(32=3) wastd | ®Wany | S=E | HE
Ark(171/300~3509) 1,964 2,000 36 -1.82%
Hi (17H/650~700g) 2,988 3,103 115 -3.71%
2(17H0/1kg) 1,853 2,378 525 -22.08%
Hi 2=(1 27| /3kg) 3,192 3,633 441 -12.13%
CHitH(15/S/1kg/2E 7HA) 2,779 3,166 387 -12.22%
20[(37H) 2,971 2,167 804 37.10%
K| 07| (= 4F/2FE4/6009) 15,410 15,652 242 -1.55%
SETMNE S07((10k2]/1kg) 8,217 7,468 749 10.03%
(16E5) MA7|(FA/=HE| LK /1S 38,164 41,176 3,012 -7.31%
4|1 7| (=4S4 /6009) 67,016 65,792 1,224 1.86%
=2 (12 2h/307H) 7,406 7,287 119 1.64%
Z7[(10r2]/=4F/15cm) 1,478 1,421 57 4.01%
ZX[(102|/=4F/80cm) 8,531 7,737 794 10.27%
15002 /=4t/30cm) 3,887 4,215 328 -7.78%
HEN(10r2[/2{ A[OF£F/40cm) 4,247 4,801 554 -11.55%
2 0{(10t2[/51=/30cm) 4,912 4,731 181 3.83%
& (20kg) 57,110 57,670 560 -0.97%
e = 4/1kg) 3,348 3,348 - 0.00%
S} (1kg) 2,845 2,624 221 8.44%
7H0FE (1kg) 11,920 12,323 403 -3.27%
d7IF (5 EHE/1ka) 2,112 2,102 10 0.48%
2 ((152/300g/3 At +W1| 1,368 1,271 97 7.63%
MES M%%(1.8L/+7| 8,521 8,521 - 0.00%
(14E5) =72 (1kg/= U M) 26,973 26,973 - 0.00%
D1| FE(1kg/=U4h 10,409 10,277 132 1.28%
2 X 1kg/=LH4h 6,019 6,063 44 -0.73%
—*‘erm /5009) 3,012 3,052 40 -1.30%
2|22 (1L) 1,740 1,818 77 -4.26%
74 2(1L) 1,834 1,896 62 -3.28%
2(1L) 1,574 1,603 29 -1.83%
~ = AT tg 36OmQ/_+_DH7.§1) 1,624 1,775 151 -8.51%
o U1 500me/2A04F) 1,878 1,888 10 -0.53%




